

Mindy Weiss 942 S. Detroit Street Los Angeles, CA 90036

10/29/2024 09:00 AM | Flight 10/30/2024 09:00 AM | Day one 10/31/2024 09:00 AM | Day 2 11/01/2024 09:00 AM | DAy 3

Shipping Address: Mexico Maravilla

P0:

Invoice Date:
Due Date: Upon Receipt

11/02/2024 09:00 AM | Day 4th 11/03/2024 09:00 AM | Strike

11/04/2024 09:00 AM | Strike 11/05/2024 09:00 AM | Flight Back Salesperson: Romina Manolio

Description		Qtty	Price		Total
Rehearsal Dinne	er - Twin Dolphin Golf -Blue				
	FAbric Treatment in Natural Gauze to cover Golf Store 80' x 10'H	1	\$1,584.00	Т	\$3,168.00
	Dining Chairs - St. Barts - Wood & Cane Back For Main Tables - and Cocktail Table 18" x 22" x 36"H	200	\$30.00	Т	\$12,000.00
	Las Vegas Stand up tables Custom Painted with Mexican Design	8	\$180.00	Т	\$2,880.00
	Panels - Laser Cut Mexican Papel Picado Birds 102â	2	\$1,440.00	Т	\$5,760.00
	Panels - Laser Cut Mexican Papel Picado	2	\$1,440.00	T	\$5,760.00
	Panels - Laser Cut Mexican Papel Picado Skulls 102â	2	\$1,440.00	Т	\$5,760.00
	Holidays - Mexican Fiesta - Assorted Multicolor Mexican Mercado Goodie Bags	192	\$1.80	T	\$345.60
	Holidays - Mexican Fiesta - Multicolor Papel Picado Tissue Garland Extra in Case that is need it	21	\$0.60	T	\$12.60
	Props - Carts - Display Bike Cart W/ Drawing - Mela Pained Arkade white - With Awnings Off white Poplin - artists to Paint as Cocktail Tables 4â® W x 140â® X 40â® H	1	\$1,080.00	Т	\$2,160.00
	Props - Carts - Display Cart W/ Drawing - Limone Painted Arkade white - With Off white Poplin Awning to paint as Cocktail Tables 8WâN 1x 40âN 1x 179âN 1 H	1	\$1,080.00	T	\$2,160.00

Description		Qtty	Price		Total
	Black Drape Extra - In case something needs to be covers 5-10'x 10'	1	\$1,020.00	Т	\$2,040.00
	Total Rehearsal D	inner - Twir	n Dolphin Golf -E	Blue	\$42,046.20
Welcome Night	Cocktails - Santa Maria BC- Whi		·		·
	Club & Lounge Chairs - Maui - Natural Wood Rattan	2	\$300.00	T	\$1,200.00
	34"W x 29"D x 29"H	-	Q 000.00	·	Ų 1,200.00
TR	Dining Chairs - Shanghai - Wood Frame	40	\$24.00	Т	\$1,920.00
A P	22"W x 23"L x 31"H - Seat Cushion Cover Color Upon Request				
	Custom Made Escort Card Display Ladder Structure with Tassle Escort Cards 280 total guests / approx. 175 Escort Cards- Approximately 20'W x 75'H	5	\$300.00	T	\$1,500.00
TR	Barstools - Shanghai - Natural Wood	24	\$24.00	Т	\$1,152.00
	21"W x 23"L x 40"H				
	Total Welcome Night C	cocktails - S	anta Maria BC-	Whi	\$5,772.00
Welcome Night	Dinner - Santa Maria -Bc White				
	Custom Made Console - Dancing Platforms TO Go in Between the Banquettes - 18'x 20"x 28"H Painted to match the Banquette Covers high gloss	5	\$1,200.00	Т	\$6,000.00
	Truss Covers With Velcro	1	\$8,568.00	Т	\$8,568.00
	2- 100' x 12"x12" (For Round Top) 6-18"x 12"x12" (Truss Towers) 8- 17'x 12"x12' (Circle Legs)				
I BENEFIT SELECTION	Dj Booths - Tahoe - Reclaimed Wood	1	\$360.00	Т	\$720.00
	65"W x 21"D x 45"H				
	Dining Tables - Bali - Rectangular Cane Back 8' X 4' X 31" H	10	\$600.00	Т	\$12,000.00
	Custom Made Bali Rectangular Cane Back Dining Table	1	\$960.00	Т	\$1,920.00
	Banquettes - Monaco - Straight White Channeled W/ Skirt 6'	12	\$360.00	T	\$8,640.00
	6'W x 39"L x 30"H				
	Banquettes - Pasadena - Straight Oatmeal Chenille 6' 6'W x 29"L x 38"H	13	\$360.00	T	\$9,360.00

Description		Qtty	Price		Total
	Custom Made Pasadena Banquettes Straight Covers Verona Latte	30	\$480.00	Т	\$14,400.00
	Benches - Modular Foam Benches W/ Backrest 6' - Middle 6' x 30" D x 18" H	6	\$360.00	Т	\$4,320.00
	Benches - Bali - Natural Rattan - Oatmeal 48"W X 18"D X 21"H	4	\$240.00	Т	\$1,920.00
	Club And Lounge Chairs - Round Rattan & Boucle 28"W x 28"D x 31.5"H	4	\$216.00	Т	\$1,728.00
A	Club And Lounge Chairs - St. Lucia - Oak & Linen 27.5" x 32" x 28"H	4	\$300.00	Т	\$2,400.00
A	Club & Lounge Chairs - Cane Back Low Chair 36âN 🕟 22âN 🖎 30âN N h	4	\$276.00	Т	\$2,208.00
	Daybeds - Shanghai - 8' Square 8' X 8' X 21" H	2	\$540.00	Т	\$2,160.00
	Coffee Tables - Shanghai - Mango Wood 32" x 32" x 19"H	8	\$240.00	Т	\$3,840.00
	Coffee Tables - Round Mango Wood 36"d x 16"H	4	\$264.00	Т	\$2,112.00
	Ottomans - Boucle & Cork 20" Diam x 16"H	12	\$42.00	Т	\$1,008.00
and the second s	Pendant Lamp - Bali - Asymetrical Weave With Rattan Rope Socket Clear Light bulbs 15"W x 22"H - 3lb - 25 watts	10	\$180.00	Т	\$3,600.00
i i	Pendant Lamp - Bali - String Weave With Rattan Rope Sockets - Clear Light Bulbs 17"W x 22"H - 3LB -25 Watts	45	\$180.00	Т	\$16,200.00
	Area Rugs - Cartagena - Natural Jute Floral Braided 8' Round 8' Round	4	\$228.00	Т	\$1,824.00
	Area Rugs - Cartagena - Jute Braided 6' Round - Natural 6' Round	4	\$198.00	Т	\$1,584.00
	Area Rugs - Cartagena - Natural Jute Scalloped Border Need all 4 (3 being repaired - check with Mary +Joe) 8' x 10'	1	\$294.00	Т	\$588.00

Description		Qtty	Price		Total
	off white Gauze to have in Case need it 50'x 10'H	1	\$1,020.00	Т	\$2,040.00
	Total Welcome Night	Dinner - Sa	nta Maria -Bc Wh	ite	\$112,740.00
Ceremony -Cie	elo 9-10 - Maravilla - REd				
	Custom Made Aspen Chair Covers / Tania We have 84 made from Tania SB Event	84	\$30.00	Т	\$5,040.00
	Custom Made Aspen Chair Covers WE NEED TO MAKE 76 MORE TO MATCH	76	\$60.00	Т	\$4,560.00
	Dining Chairs - Aspen - White Wood W/ White Linen 18" X 21" X 32"H	160	\$30.00	Т	\$9,600.00
	Total Ceremo	ony -Cielo 9	-10 - Maravilla - F	REd	\$19,200.00
Cocktails - Cie	lo 9-10 - Maravilla - Green				
	Custom Made flat Ceiling in Natural Linen 026 Natural Linen	1	\$18,000.00	Т	\$18,000.00
	Custom Made Roman Shades for Walls covering Of Cocktail 567 Blush Pink Linen	1	\$22,800.00	Т	\$22,800.00
	Custom Made Covers For Truss Blush 14- 14'x 12"x12" 10-32'x12"x12" 6-24'x12"x12"	1	\$12,000.00	Т	\$12,000.00
	Custom Made Flat Natural Linen Wall Aprox 250' x 15H In O26 Natural Linen	1	\$6,600.00	Т	\$6,600.00
	Sofas - Santa Barbara	8	\$600.00	Т	\$7,200.00
	8'W x 43.5"D x 28.5" Seat Height 20" Seat Depth 28"				
	Custom Made Cover For Sofas- Santa Barbara Rayon Linen - Natural	8	\$360.00	T	\$2,880.00
	Club & Lounge Chair - Santa Barbara 59" x 39" x 28.5" H Seat Height 23.5" Seat Depth 19.5"	8	\$300.00	Т	\$3,600.00
	Custom Made Cover For Santa Barbara Club Chair In 567 Blush Pink Linen	8	\$180.00	Т	\$1,440.00
	Club & Lounge Chairs - Santa Barbara - 01 51"W x 40.5"D x 28"H Seat Height 19" Seat Depth 25"	8	\$300.00	Т	\$3,600.00
	Custom Made Covers for Santa Barbara Club Chair - 01 in 567 Blush Pink Linen	8	\$180.00	T	\$1,440.00
	Small Dining Table - Bistro - Marble Top 36" 36" Diam x 30'H	8	\$300.00	Т	\$3,600.00
	Coffee Tables - Santa Barbara - Mango Wood 23" 23" Diam x 13.5"H	8	\$150.00	Т	\$2,400.00

escription		Qtty	Price		Total
	Coffee Tables - Whitewash Mango Wood - Round 30"Diam x 16.5"H	8	\$180.00	Т	\$2,880.00
	Accent Tables - Whitewash Mango Wood - Round	16	\$108.00	Т	\$3,456.00
	Barstools - Toronto - Upholstered W/ Light Wood Legs 22"W x 26"L x 42"H	24	\$36.00	Т	\$1,728.00
	Dining Chairs - Aspen - White Wood W/ White Linen 18" X 21" X 32"H	32	\$30.00	Т	\$1,920.00
	Custom Cover for Dining Chairs In Blush 567 Blush	32	\$42.00	Т	\$1,344.00
	New Ottomans 20"x17th With Custom Cover Flower pint	16	\$240.00	Т	\$3,840.00
	Custom Made pillows patterns Custom Printed fabric and Solids	20	\$54.00	Т	\$1,080.00
	Stand Up Tables - Tulip Base New - Painted to match the rest of the Tables 32" Diam x 41"H	10	\$660.00	Т	\$6,600.00
	Total Cocktails	- Cielo 9-1	0 - Maravilla - Gre	een	\$108,408.00
eception - Soc	Total Cocktails	- Cielo 9-1	0 - Maravilla - Gro	een	\$108,408.00
eception - Soc		- Cielo 9-1 1	0 - Maravilla - Gro \$14,400.00	een T	\$108,408.00
eception - Soc	Custom Fabric Treatment for Gable Front of tent Color				
eception - Soc	Custom Fabric Treatment for Gable Front of tent Color Outside Custom Fabric- Treatment inside Tent 2- Gable walls 100'x 32'H	1	\$14,400.00	T	\$14,400.00
eception - Soc	Custom Fabric Treatment for Gable Front of tent Color Outside Custom Fabric- Treatment inside Tent 2- Gable walls 100'x 32'H 350' x 14'H Banquettes - Nice - Mauve Pink Velvet & Wood Legs - 8'	1	\$14,400.00 \$42,000.00	T	\$14,400.00
Peception - Soc	Custom Fabric Treatment for Gable Front of tent Color Outside Custom Fabric- Treatment inside Tent 2- Gable walls 100'x 32'H 350' x 14'H Banquettes - Nice - Mauve Pink Velvet & Wood Legs - 8' 8'W x 33"L x 40"H	1 1 8	\$14,400.00 \$42,000.00 \$600.00	T T	\$14,400.00 \$42,000.00 \$9,600.00 \$3,360.00
Reception - Soc	Custom Fabric Treatment for Gable Front of tent Color Outside Custom Fabric- Treatment inside Tent 2- Gable walls 100'x 32'H 350' x 14'H Banquettes - Nice - Mauve Pink Velvet & Wood Legs - 8' 8'W x 33"L x 40"H Custom Made Covers for Banquets Dining Tables - Panama - Rectangular W/ Round Ends - White Wash	1 1 8	\$14,400.00 \$42,000.00 \$600.00 \$420.00	T T	\$14,400.00 \$42,000.00 \$9,600.00 \$3,360.00 \$14,400.00
Reception - Soc	Custom Fabric Treatment for Gable Front of tent Color Outside Custom Fabric- Treatment inside Tent 2- Gable walls 100'x 32'H 350' x 14'H Banquettes - Nice - Mauve Pink Velvet & Wood Legs - 8' 8'W x 33"L x 40"H Custom Made Covers for Banquets Dining Tables - Panama - Rectangular W/ Round Ends - White Wash 8'W x 4'D x 30"H Chandeliers - York - White Flowers 73"	1 1 8 8 12	\$14,400.00 \$42,000.00 \$600.00 \$420.00 \$600.00	T T T	\$14,400.00 \$42,000.00 \$9,600.00

Description		Qtty	Price		Total
After Party - Soc	cer Field - TD - Pink				
	LED Walls Ceiling all walls	1	\$108,000.00	T	\$108,000.00
	Black Gable Wall for Entrance tent to after party Black Poplin Peated	1	\$0.00	Т	\$0.00
	Booths - Las Vegas - Black W/ Acrylic Legs 2 Pc Set Booths - Las Vegas - Acrylic Legs - White Velvet Cover 5'4 W x11.2"L x 2.3"H	10	\$720.00	T	\$14,400.00
	Coffee Tables - Berlin - Chrome 36"Diam X 15"H	6	\$240.00	T	\$2,880.00
	Coffee Tables - Las Vegas - Mirrored Round Large 52"Diam x 24"h	15	\$288.00	Т	\$8,640.00
	Total Afte	er Party - Soc	cer Field - TD - Pi	ink	\$133,920.00
Sofas					
711111	Sofas - Ibiza - Middle 8' 8'W x 46"L x 30"H	4	\$360.00	Т	\$1,440.00
711111	Sofas - Ibiza - Middle 6' 6'W x 42"L x 30"H	4	\$330.00	T	\$1,320.00
	Sofas - Ibiza - Middle Sectional 4' 4'W x 44"L x 29"H	7	\$300.00	T	\$2,100.00
	Sofas - Ibiza - Wide Right 67" x 44" x 29"h	4	\$330.00	Т	\$1,320.00
	Sofas - Ibiza - Wide Left 67" x 44" x 29"h	9	\$330.00	Т	\$2,970.00
	Sofas - Ibiza - Long Right 5.5'W x 44"L x 29"H	10	\$330.00	Т	\$3,300.00
	Sofas - Ibiza - Long Left 5.5'W x 44"L x 29"h	4	\$330.00	Т	\$1,320.00
	Sofas - Ibiza - Half Moon 98"W x 40"L x 30"H	10	\$480.00	Т	\$4,800.00

Description		Qtty	Price	Total
			Total Sofas	\$18,570.00
Accent Tables				
	Coffee Tables - Hamburg - Square Low - Black Wood 36"W x 36"D x 11"H	4	\$300.00 T	\$1,200.00
	Coffee Tables - Hamburg - Square High - Black Wood 31 1/2"W x 32 1/2"D x 11 1/4"H	4	\$300.00 T	\$1,200.00
	Coffee Tables - Hamburg - Square Low - Multicolor 48"W x 48"D x 11"H	4	\$300.00 T	\$1,200.00
T	Accent Tables - Hamburg - Square - Black Wood 24 3/4"W x 24 3/4"D x 21 1/4"H	7	\$192.00 T	\$1,344.00
			Total Accent Tables	\$4,944.00
Services				
	Sunday Team Flying to Mexico	14	\$500.00	\$7,000.00
	Monday Team starts Working in Mexico	14	\$650.00	\$9,100.00
	Tuesday Team installing in Mexico	14	\$650.00	\$9,100.00
	Tuesday 2 Team member to fly to mexico	2	\$500.00	\$1,000.00
	Wednesday 16 teams working in Mexico	16	\$650.00	\$10,400.00
	Thursday 16 members Working in Mexico	16	\$650.00	\$10,400.00
	Friday 16 members Working in Mexico	16	\$650.00	\$10,400.00
	Saturday 1 Team member to Return to LA	1	\$500.00	\$500.00
	Saturday 15 Team members to work in Mexico	15	\$650.00	\$9,750.00
	Soft Strike. Sunday	10	\$650.00	\$6,500.00
	Monday Strike 15 people	15	\$650.00	\$9,750.00
	Tuesday Members to Fly Back to LA	5	\$500.00	\$2,500.00
	Tuesday 10 Crew members to Finish Strike and Packing	10	\$650.00	\$6,500.00
	Wednesday remaining Crew to Fly back to LA	10	\$500.00	\$5,000.00
	Designer Site inspection - Diagrams - Meetins and on site From Sunday the 27th to Monday 4th	1	\$15,000.00	\$15,000.00
	2nd Manager on Site from Sunday to 27th to Wednesday	1	\$8,250.00	\$8,250.00
	Flights _ hold Price till Final Purchase	1	\$0.00	\$0.00
	Rental Cars Hols Priced till Final Rental	1	\$0.00	\$0.00
	per diems From Sunday to Wednesday	1	\$0.00	\$0.00

Description	Qtty	Price	Total
Perdiems from Sunday to Tuesday	1	\$0.00	\$0.00
Perdiems for Tuesday to Saturday	1	\$0.00	\$0.00
Perdiems from Sunday to Monday	1	\$0.00	\$0.00
Over time Production	1	\$15,000.00	\$15,000.00
Hotel Rooms to Be provided by cleint	1	\$0.00	\$0.00
Del cabo Managing Fees	1	\$0.00	\$0.00
Extra Supplies	1	\$7,000.00	\$7,000.00
Transportation Manager Fee	1	\$0.00	\$0.00
Artist to Paint Tables and awning	1	\$4,500.00	\$4,500.00
Please make checks payable to Revelry, Inc.		Total Products:	\$543,280.20
Note: Prior to delivering and pick upg all invoices must be pay in full	Total La	abor/Services/Misc:	\$147,650.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it	V	Vear & Tear (4.00%):	\$21,731.21
•		Packing (2.00%):	\$10,865.60
Notes	T	axes (tax excempt):	\$0.00
		Discounts:	(\$0.00)
		Total:	\$723,527.01
		Payments:	(\$250,000.00)
		Balance:	\$473,527.01